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7 100kN/mM%EBZ % - -~ - -|3mEFBZD -~ - -] 100kN/ Mm% % % - -~ -|3mZEi#BR D -~ - - -
s 1.00 | 0.00 ~ 327 41.63 | =hst | ooo ~ 3527|226 12.10 st 1.00 | 6.00 ~ 6.00 41.63 | =hLS | 5.00 ~ 6.00| 2.26 12.10
2 100kN/m%E#BZ5| 1.00 000 ~ 113 11711 |3mEHBZD -~ -| 100kN/M%#82% | 1.00 | 1212 ~ 1609 11711 |3m%iBZ% -~ - - -
s 1.00 | 1.13 ~ 892 100.00 | 0S| 000 ~ 892 | 2.70 14.46 st 1.00 | 6.00 ~ 1212 100.00 | =nLst | 6.00 ~ 1609\ 2.70 14.46
3 100kN/m%E#BZ5 | 1.00| 000 ~ 022 10326 |3mEHBZD ~ -| 100kN/M%#82% | 1.00 | 1057 ~ 11.17| 10326 |3m%iBZ% -~ - - -
s 1.00 | 0.22 ~ 801 100.00 | =nhst | ooo ~ 801|215 11.48 zh st 1.00 | 6.00 ~ 1057 100.00 | =nLst | 6.00 ~ 1117|215 11.48
4 100kN/mM%BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/mM#%#8% % ~ -|3mZEiBR D -~ - - -
s 1.00 | 0.00 ~ 550 68.64 | FnLSY | 0.00 ~ 550 | 1.90 10.16 zh st 1.00 | 6.00 ~ 6.37 68.64 | TSt | 6.00 ~ 6.37| 1.90 10.16
5 100kN/m%E#BZ5 | 1.00| 000 ~ 190 12924 |3mEHBZD ~ -| 100kN/M%#82% | 1.00 | 1055 ~ 17.36| 129.24 |3m%iBZ% -~ - - -
s 1.00 | .90 ~ 9.68 100.00 | #nlst | 000 ~ 9.68| 2.41 12.92 Zhn st 1.00 | 6.00 ~ 1055 100.00 | =nLst | .00 ~ 1736 2.41 12.92
P 100kN/m%E#8z5 | 1.00 | 000 ~ 216 13355 |3mE#Bz% ~ -1 100kN/mM%&#z25 | 1.00 | 1094 ~ 1918 133.55 |3m%x#Bz5 -~ - - -
s 1.00 | 216 ~ 995 100.00 | 0S| 0.00 ~ 9.95| 2.64 13.58 zhLst 1.00 | 6.00 ~ 1094 100.00 | =nLSt | 6,00 ~ 19.18| 2.64 13.58
7 100kN/m%E#BZ5 | 1.00| 000 ~ 18| 12766 |3mEHBZS ~ -1 100kN/mM%&#z25 | 1.00 | 10.74 ~ 1699 127.66 |3m%E#z5 -~ - - -
Thilst 100|180 ~ 959\ 100.00| FhLs | 000 ~ 9.59| 2.49 13.33 ZnList 100500 ~ 1074 100.00| FnLS | 5.00 ~ 1699 | 2.49 13.33
3 100kN/m%E %% | 1.00 | 000 ~ 1.27| 11930 |3mE#EBZ3% ~ -] 100kN/mM%&#8z25 | 1.00 | 1064 ~ 1462 119.30 |3mE#ZB -~ - - -
Thilst 100|127 ~ 906\ 100.00| FhLs | 000 ~ 9.06| 2.26 1211 ZnList 1.00] 5600 ~ 1064 100.00| FnLS | 5,00 ~ 14.62| 2.26 12,11
9 100kN/ Mm% Z 5 - -~ - -|3mE#EER S ~ -| 100kN/m%#8Z % ~ -|13m#EFEZ S -~ - - -
ThLst 1.00 | 0.00 ~ 353 44.61 | =nhs | 000 ~ 353 2.62 13.46 Fhst 1.00 | 6.00 ~ 800 44.61 | =S | 5,00 ~ 800\ 2.62 13.46
10 100kN/ Mm% Z 5 - -~ - -|3mE#EER S ~ -| 100kN/mi%#8Z % ~ -|13m#FEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 4.72 5889 | =nst | 0oo ~ 472 1.80 9.66 Fhst 1.00 | 6.00 ~ 56.00 5889 | #nLst | 5,00 ~ 6.00| 1.80 9.66
100kN/ Mm% Z 5 ~ 3mEBZD ~ 100kN/mM%E#Z 5 ~ ImERZD ~
zhs ~ ZzhLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
zhs ~ st ~ ZzhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImERZD ~
zhs ~ st ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ st ~ Zhust ~




